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Weak Verbs: Gutterals in the Derived Stems (Ross 33) 
Dr. Phillip Marshall 
 
REVIEW: 3 characteristics of Gutteral verbs 
 
1. 
 
2. 
 
3. 
 
 
33.1 I-Gutt Verbs: If verbs with R1 gutterals are weak on the front end, what are the 
situations where we would expect problems/deviations from the strong verb? Which stems 
will lend themselves to these problems? 
 

Forms Niphal 
Pft 3ms נפְִקַד 

Impf 3ms יפִָּקֵד 
Wci(wayyiqtol) 3ms ויַפִָּּקֵד 

Juss 3ms יפִָּקֵד 
Coh 1cs קְֽדָה  אֶפָּ

Impv 2ms הִפָּקֵד 
Ptc ms נפְִקָד 

Infc הִפָּקֵד 
Infa נפְִקוֹד/הִפָּקוֹד 
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Forms Hiphil 
Pft 3ms הִפְקִיד 

Impf 3ms יפַקְִיד 
Wci(wayyiqtol) 3ms ויַפְַּקֵד 

Juss 3ms יפְַקֵד 
Coh 1cs אַפְקִ֫ידָה 

Impv 2ms הַפְקֵד 
Ptc ms מַפְקִיד 

Infc הַפְקִיד 
Infa הַפְקֵד 

 
 

Forms Hophal 
Pft 3ms הָפְקַד 

Impf 3ms יפְָקַד 
Wci(wayyiqtol) 3ms ויַפְָּקַד 

Juss 3ms יפְָקַד 
Coh 1cs אָפְקְדָה 

Impv 2ms XXX 
Ptc ms מָפְקָד 

Infc הָפְקַד 
Infa הָפְקֵד 
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33.2   II-Gutt Verbs: If verbs with R2 gutterals are weak in the middle, what are the 
situations where we would expect problems/deviations from the strong verb? Which stems 
will lend themselves to these problems? 
 
 

Forms Piel 
Pft 3ms פִּקֵּד 

Impf 3ms יפְַקֵּד 
Wci(wayyiqtol) 3ms ויַפְַּקֵּד 

Juss 3ms יפְַקֵּד 
Coh 1cs אֲפַקְּדָה 

Impv 2ms פַּקֵּד 
Ptc ms מְפַקֵּד 

Infc פַּקֵּד 
Infa פּקַוֹּד/פַּקֵּד 

 
 

Forms Pual 
Pft 3ms פֻּקַּד 

Impf 3ms יפְֻקַּד 
Wci(wayyiqtol) 3ms ויַפְֻּקַּד 

Juss 3ms יפְֻקַּד 
Coh 1cs אֲפֻקְּדָה 

Impv 2ms XXX 
Ptc ms מְפֻקָּד 

Infc פֻּקֹּד 
Infa פֻּקֹּד 
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2 strategies for dealing with no DF in R2 in Piel/Pual: 
 

1. Compensatory lengthening: When a R2-gutt rejects DF, the preceding vowel 
may compensatorily lengthen. This usually happens with ר and א. 

 
Perfect:  3ms  מאן      Impf: 3ms  ימאן 
 
   3fs    ָ המאנ        3fs   תמאן 
 
   2ms  תָּ מאנ        2fs   ִתמאני 

 
 
 

2. Implied/Virtual doubling: When R2-gutt rejects DF, the preceding vowel may 
remain short, and the R2-gutt is treated as if it were doubled. (Hence the term 
virtual/implied doubling.) This usually happens with ה/ח/ע. 

 
Perfect:  3ms  בער      Impf: 3ms  יבער 
 
   3fs    ָהבער        3fs   תבער 
 
   2ms  תָּ בער        2fs   יבערִ ת  

 
 
So how would the Pual of ברך (to be blessed) look? 
 
Perfect:  3ms  ברך      Impf: 3ms  יברך 
 
   3fs   3       ברכָהfs   תברך 
 
   2ms   ָּ2       ברכתfs   תברכִי 
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33.3 III-Gutterals:  In the derived stems, wherever a R3-gutt occurs with a ṣere theme vowel 
under R2, the gutteral will do one of two things: 

1. Try to force it into an A-class vowel (pata̱ḥ). So where do we have this situation? 
Look at your Principal Charts page. 
2. Otherwise, a few places leave ṣere and adopt a furtive paṯaḥ under R3-gutt. 

 
33.3.1 Niphal 
 

Impf 3ms 3  שלׁחmp שלׁח 
Impv 2ms 2  שלׁחmp שלׁח 
Inf cst שלׁח  abs שלׁ ח 
 

 
33.3.2 Piel 
 

Pft 3ms 3  שלׁחcp שלׁח 
Impf 3ms 3  שלׁחmp שלׁח 
Impv 2ms 2  שלׁחmp שלׁח 

but      

Ptc ms שלׁח    

      
 
33.3.3 Hiphil 
 

Pft 3ms ׁע שמ  
Impf 3ms ׁע שמ  
Ptc ms ׁע שמ  
Inf cst ׁע שמ  

but   

WCI 3ms שמׁע 
Juss 3ms שמׁע 
Impv 2ms שמׁע 

but   

Inf abs שמׁע 
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33.4 III-Aleph Verbs: Special class of III-gutt verbs that exhibit a few other kinds of 
weakness: 

1. Whenever א is closing a syllable, it quiesces. (Remember, א is a lousy closer!) 
2. The א is no longer pronounced, loses its consonantal value and vowel pointing, and 
affects the preceding vowel, usually by compensatory lengthening. 
3. In the derived stems especially, the R3 quiescent א exhibits a noticeable pattern with 
consonantal personal endings/inflections: 
 

Pft (suffix-) conj:   ֵא◌    Impf (prefix-) conj:  ֶא◌ 
 

Look at the following table (adapted from BHRG §18.4.2 

  
 

QAL 
 

NI. 
 

PI. 
 

PU. 
 

HTP. 
 

HI. 
 

HO. 
 

Gloss. 
 

find 
 

  
 

  
 

  
 

  
 

  
 

  
 

 Perfect form 
 

3 ms 
 

 מָצָא
 

 נמְִצָא
 

ֵּא  מִצ
 

ָּא  מֻצ
 

ֵּא  הִתְמַצ
 

 הִמְצִיא
 

 הֻמְצָא
 

3 fs 
 

 מָצְֽאָה
 

 נמְִצְאָה
 

ְּאָה  מִצ
 

ְּאָה  מֻצ
 

ְּאָה  הִתְמַצ
 
 הִמְצִיאָה

 
 הֻמְצְאָה

 
2 ms 
 

 מָצָאתָ 
 

 נמְִצֵאתָ 
 

ֵּאתָ   מִצ
 

ֵּאתָ   מֻצ
 

ֵּאתָ   הִתְמַצ
 

 הִמְצֵאתָ 
 

 הֻמְצֵאתָ 
 

2 fs מָצָאת 
 

 נמְִצֵאת
 

ֵּאת  מִצ
 

ֵּאת  מֻצ
 

ֵּאת  הִתְמַצ
 

 הִמְצֵאת
 

 הֻמְצֵאת
 

1 cs 
 

 מָצָאתִי
 
 נמְִצֵאתִי

 
ֵּאתִי  מִצ

 
ֵּאתִי  מֻצ

 
ֵּאתִי  הִתְמַצ

 
 הִמְצֵאתִי

 
 הֻמְצֵאתִי

 
 Imperfect form 

 
3 ms 
 

 ימְִצָא
 

 ימִָּצֵא
 

ֵּא  ימְַצ
 

ָּא  ימְֻצ
 

ֵּא  יתְִמַצ
 

 ימַצְִיא
 

 ימְֻצָא
 

3 fs 
 

 תִּמְצָא
 

 תִּמָּצֵא
 

ֵּא  תְּמַצ
 

ָּא  תְּמֻצ
 

ֵּא  תִּתְמַצ
 

 תַּמְצִיא
 

 תֻּמְצָא
 

3 mp 
 

 ּ  ימְִצְאו
 

 ּ צְֽאו  ימִָּ
 

 ּ ְּאו  ימְַצ
 

 ּ ְּאו  ימְֻצ
 

 ּ ְּאו  יתְִמַצ
 

 ּ  ימַצְִיאו
 

 ּ  ימְֻצְאו
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3/2 
fp 

 תִּמְצֶאנהָ
 
 תִּמָּצֶאנהָ

 
ֶּאנהָ  תְּמַצ

 
ֶּאנהָ  תְּמֻצ

 
ֶּאנהָ  תִּתְמַצ

 
 תַּמְצֶאנהָ

 
 תֻּמְצֶאנהָ

 
 Imperative form 

 
2 ms 
 

 מְצָא
 

 הִמָּצֵא
 

ֵּא  מַצ
 
  
 

ֵּא  הִתְמַצ
 

 הַמְצֵא
 
  
 

2 fs 
 

 מִצְאִי
 

צְֽאִי  הִמָּ
 

ְּאִי  מַצ
 
  
 

 הִתְמַצאְִּי
 

 הַמְצִיאִי
 
  
 

  
 


